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Section A I Answer All The Following Vsaq

1. Transform the equation  into 

(i) Slope intercept form 

√3x + y = 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_56ex8JdWWxV3


(ii) Intercept form

Watch Video Solution

2. Find the value of p if the straight lines 3x + 7

y - 1 = 0 and 7 x - py + 3 = 0 are mutually

perpendicular .

Watch Video Solution

3. Show that the point (1 , 2 , 3), (7 , 0 1), (- 2, 3,

4) are collinear.

https://dl.doubtnut.com/l/_56ex8JdWWxV3
https://dl.doubtnut.com/l/_k0OP1UqvZJZ7
https://dl.doubtnut.com/l/_yAdrWViJrTUb


Watch Video Solution

4. Reduce the equation 

of the plane to the normal form.

Watch Video Solution

x + 2y − 3z − 6 = 0

5. Compute the limit of 

Watch Video Solution

Ltx→ 3
x2 − 8x + 15

x2 − 9

https://dl.doubtnut.com/l/_yAdrWViJrTUb
https://dl.doubtnut.com/l/_A5QNeBu3Gr8c
https://dl.doubtnut.com/l/_QM83BvcMqXhZ


6. Compute 

Watch Video Solution

Lim
x→ 0

ex − sinx − 1
x

7. Find the derivative of  with

respect of 'x' .

Watch Video Solution

sin− 1(3x − 4x3)

8. if  then 2x2 − 3xy + y2 + x + 2y − 8 = 0

dy

dx

https://dl.doubtnut.com/l/_JsM5MN40ydt7
https://dl.doubtnut.com/l/_nF8mcRY7CtFk
https://dl.doubtnut.com/l/_RALHAjXmothY


Watch Video Solution

9. If  then find

 and dy

Watch Video Solution

y = x2 + x, x = 10, Δx = 0.1,

Δy

10. Find the lengths of subtangent and

subnormal at a point on the curve

Watch Video Solution

y = b sin( )
x

a

https://dl.doubtnut.com/l/_RALHAjXmothY
https://dl.doubtnut.com/l/_9rtvS6QLLznW
https://dl.doubtnut.com/l/_SguNHKttAZG3


Section B Ii Answer Any Five Of The Following

Saqs

1. Find the equation of locus of a point, the

sum of whose distances from (0 , 2) and (0 , -2)

is 6 .

Watch Video Solution

2. When the origin is shifted to the point (2 , 3)

the transformed equation of a curve is

https://dl.doubtnut.com/l/_SguNHKttAZG3
https://dl.doubtnut.com/l/_Hbohqqer0PKt
https://dl.doubtnut.com/l/_xDAwC8vbi9Sy


 . Find

the original equation of curve.

Watch Video Solution

x2 + 3xy − 2y2 + 17x − 7y − 11 = 0

3. Find the equation of the straight line

parallel to the line 3x + 4y = 7 and passing

through the point of intersection of the lines x

- 2y - 3 = 0 , x + 3y - 6 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_xDAwC8vbi9Sy
https://dl.doubtnut.com/l/_bNRO58sQPOc2


4. Check the continuity of 'f' given by

 

x = 0, 1, 2.

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

4 − x2  if x ≤ 0

x − 5  if 0 < x ≤ 1

4x2 − 9 if 1 < x < 2

3x + 4 if x ≥ 2at point s

5. x = a (cost + t sint) , y = a (sint - tcost) find

 .

Watch Video Solution

dy

dx

https://dl.doubtnut.com/l/_IpitqPucqkL5
https://dl.doubtnut.com/l/_1OD7hRfI9lLp
https://dl.doubtnut.com/l/_zd86h8N3wthL


6. Find the equation of tangent and normal to

the curve  at the point where the

curve meets the Y - axis

Watch Video Solution

y = 2.e
− x

3

7. A point P is moving on the curve  .

The x coordinate of P is increasing at the rate

of 4 units per second . Find the rate at which y

coordinate is incerasing when the point is at

(2,8).

y = 2x2

https://dl.doubtnut.com/l/_zd86h8N3wthL
https://dl.doubtnut.com/l/_iCUGKC8GVdYr


Section C Iii Answer Any Five Of The Following

Laqs

Watch Video Solution

1. The base of an equilateral triangle x + y = 2 =

0 and opposite vertex is (2 , - 1). Find the

equations of the remaining sides .

Watch Video Solution

https://dl.doubtnut.com/l/_iCUGKC8GVdYr
https://dl.doubtnut.com/l/_AvIH8CvLr112


2. Show that the lines joining the origin with

the points of intersection of the curve

 with the

line  are mutually perpendicular.

Watch Video Solution

7x2 − 4xy + 8y2 + 2x − 4y − 8 = 0

3x − y = 2

3. Find the direction cosines of the two lines

which are connected by the relations

Watch Video Solution

l − 5m + 3n = 0, 7l2 + 5m2 − 3n2 = 0

https://dl.doubtnut.com/l/_53Vu7ZBemmTP
https://dl.doubtnut.com/l/_hWV5Q7jf5FiJ


4. If  then prove that 

 .

Watch Video Solution

xy + yx = ab

= − [ ]
dy

dx

yxy− 1 + yx logy

xy logx + xyx− 1

5. Show that when the curved surface of a is

right circular cylinder inscribed in a sphere of

radius R is maximum , then the height of the

cylinder is .

Watch Video Solution

√2R

https://dl.doubtnut.com/l/_hWV5Q7jf5FiJ
https://dl.doubtnut.com/l/_pTaAXxhj3IjA
https://dl.doubtnut.com/l/_ru93frkUyrTB


6. If  , then

show that the condition for orthogonality of

above curves is 

Watch Video Solution

ax2 + by2 = 1, a1x
2 + b1y

2 = 1

− = −
1

a

1

b

1

a1

1

b1

https://dl.doubtnut.com/l/_n612dluJUsmE

